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1. Resize image.
{ 2. Run convolutional network.
3. Non-max suppression.
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Type Filters Size Qutput
Convolutional 32 3x3 256 x 256
Convolutional 64 3x3/2 128 x 128
Convolutional 32 1x1

1x| Convolutional 64 3x3
Residual 128 x 128
Convolutional 128 3x3/2 64x64
Convolutional 64 1 x1

2x| Convolutional 128 3 x3
Residual 64 x 64
Convolutional 256 3x3/2 32x32
Convolutional 128 1 x 1

8x| Convolutional 256 3 x3
Residual 32 x 32
Convolutional 512 3x3/2 16x16
Convolutional 256 1 x1

8x| Convolutional 512 3x3
Residual 16 x 16
Convolutional 1024 3x3/2 8x8
Convolutional 512 1 x1

4x| Convolutional 1024 3 x 3
Residual 8x8
Avgpool Global
Connected 1000
Softmax
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[[net]

# Testing
batch=1
subdivisions=1

# Training

batch=6d
subdivisions=16

width=60%
height=608
channels=3
momentum=0,9
decay=0.0005
angle=0
saturation
exposure =
hue=.1

=1.5
L3

learning_rate=0.001
burn_in=5000
max_batches = 500200
policwy=steps
steps=400000,450000
scales=.1,.1

[convolutional]
batch normalize=1
filters=32

slze=3

stride=1

pad=1
activation=leaky

# Downsanple

[convolutional]
batch_nomalize=1
filters=64
size=3

stride=2

pad=1
activation=leaks

4% [convolutional]
44 batch nommalize=1
45 filters=32

46 size=1

47 stride=l

4% pad=1

49 activation=leaky

51 [comvolutiomal]
42 hatch_normalize=1
53 filters=64

54 size=3
55 stride=l
6 pad=1

57 activation=leaky

59 [shortcut]

60 from=-3

6l activation=linear

63 # Downsample

65 [convolutional]
66 batch nommalize=1
a7 filters=124

04 slze=3
69 stride=2
70 pad=1

71 activation=leaky

73 [convolutional]
74 batch_normalize=1
75 filters=64

76 size=1
77 stride=l
7% pad=l

79 activation=leaky
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[conwolutional]
batch_nomalize=1
size=3

stride=1

pad=1

filters=256
activation=leaky

[conwolutional]
batch nomalize=1
filters=12%
size=1

stride=]

pad=1
activation=leaky

[conwolutional]
batch nomalize=1
size=3

stride=]

pad=1

filters=256
activatlon=leaky

[conwolutional]
slze=1

stride=]

pad=1
filters=1318
activation=linear

[¥olo]

mazk = 0,1,2
anchors = 10,13,
classes=a01

nmin=9

jitter=.3
ignore_thresh = .7
truth_thresh = 1
randon=1
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calculation mAP (mean average precision)...
36

detections_count = 1486
class_id name
class_id name
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class id name (TP
class id name 5 ] (TP
class_id name = NT_1_ = : (TP
class_id name = il = : (TP : = 36)
class_id name 50 T, 4. (TP a)
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for conf_thresh 3.25, precision 8.76, recall 8.82, Fl-score = 8.79
a

3
verage Iol = 66.47 %

for conf_thresh = 8.25, TP = 427, = 135, FN = 96,

IoU threshold = 58 %, used Area-Under-Curve for each unigue Recall
mean average precision (mAP@R0.58) = 0.777105, or 77.71 %
Total Detection Time: 2.000000 Seconds




1 k=F§ g
B R eRR R R FE IR 35 FREOR Y > AT B ek
SRS K B AR R U R A E R T A
SRR T 6 m““#‘l OB DALFRES 0 2 HEWEFA
%fgfs/a i B rz\m/‘q—ﬁuﬁiﬁi wa R EHA 7 E AR BIELY T§

=k
S

-+
3

2. Ak
A B AR R R PR R I E R SRR}
kR L P ST SR RRR R s @ W b

R o AR A VAR WS o A AR B

Eﬂ

SHRRE > PRS0 A 5 R o AT S g R 0 R AT R 2 F AR
S BRI o R EA|¥T o

EEAT

Redmon, J., Divvala, S., Girshick, R., & Farhadi, A. (2016). You only look once:
Unified, real-time object detection. In Proceedings of the IEEE conference on
computer vision and pattern recognition (pp. 779-788).



